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2002 2003 2002 2003
33680 | 37000 142000 | 130800
1600 | 42000 29750 | 70000
96775 | 134080 21000 | 32000
88025 | 150570 1250 2000
2800 2750 194000 | 235000
222880 | 366400
119800 | 100000 48400 | 157000
162000 | 197900
65000 | 74000 202000 | 202000
97000 | 123900 22080 | 22080
26800 | 30700 8500 | 15920
8500 | 11000
474980 | 632000 474980 | 632000
2002 2003
650000 787000
558720 681000
36870 44600
54410 61400
8500 12200
1000 1200
20000 22800
1100 1500
40810 48100
13000 11800
2120 3000
18500 16000
37430 46900
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=681000/150570=4.52 /
=360/4.52=79.6

AB 2001
=558720/88025=6.35
=360/6.35=56.6

AB 2002 2001

4
AB 2002

=48100/787000>=<100%=6.11%
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=40810/650000>< 100%=6.28%
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AB 2002

= 235000+157000 /632000><100%=62.03%
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= 194000+48400 /474980><100%=51.03%
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